Com WeEYC e | _Qo_{”'/z@,ﬂ;
10

Q.P. Code :09715
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Please check whether you have got the right quest:on paper

N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks.

3. Draw neat diagrams wherever necessary. -

Q.1 “The intersection of the aggregate supply and the aggregate demand‘functlon determmes the qﬁthbnum 15
level of income and output.” Discuss. : & et : 3 :

OR &3 ; petel .
A. What is inflationary gap? Show it with the help of»dlagra\m; Y S AT O - 07
B. Explain the nature of Phillips curve in the Iong run. A D AT AN A : 08
Q.2 A. Explain how the IS curve is denved?\Brmgs out the factgrs that déte' 07
B. Discuss the derlvation of LM curve: What are: the factors that m’rluen 08
o] FRAEREINTN SF N
C. Examine the effects of fiscal policy onincome and Ln‘t f' stein th 07
D. Explain the appllcatlon of IS LM model in the !nd‘iem Ic«onbmy from\2000 01 to 2005 06 08
Q.3 07
AHol 08
OR
C. Explain the Munde}l Flemmg model w1th t elp of a dlagram 07
D. Explain the - cume_ effect : i 08
Q.4 A. Select the correct .ansWe'r and 'rewr.it‘e .thé\'s;_t-atem_ént: 07
(i) ,Under vaiuexadded method natlonal mcom‘e |s measured by
_] Addmgthe value a,t each stage
) _ddlngexpenses at @hch stage p
(cj'?\ddmg,r' nt, wages and |hterest
& }_Noneof the above =~ . -
25 (H) }n'developmg countries measunement of natlonal income encounters problems_
S0 @) Non ‘monetized sector. - '
© {b) Lackofadequate statlsttcal data
;{c} ‘Lackof. ‘proper accountmg prachces
e E o {d) All of the above. DR
£ ﬁil) . GDpP deﬂator tei!s usthe . =
< % ({a) Nominal progress
- " (b) Real progress
(c). Rate of deflation in the economy
{d) None of'ttjg_above
1
[P.T.0]
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Q.4

(iv)

(v)

(vi)

(vii)

Q.P. Code :09715 -

Real interest rate explains a change in

(a) A-purchasing power
(b) Money income

(c) The rate of inflation
(d) None of the above
Purchasing Power Parity (PPP) indicates__
(a) Real value

(b) Nominal value

(c) Both

(d) None of the above.
As per HDR 2015, HDI value of India was

(a) 0.408

(b) 0.582

(c) 0.609 LR & N
(d) 0.585 TR ST s
India ranks among T R SRR

(a) High Human Development\Gmups v N N
(b) Medium Human Developménrﬁf ups:
(c) Low Human Developmean' £
(d) None of the above. - :
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